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Intro
Today we will 7’valearn »"9 970f 37m0 NOON nRD1U: wnww ]nD

021000 PNR PR

7729 IMRX PRIAN

Some of the topics we will learn about include.

The Mishnah'’s Halachah of

ARDIVI WDV 17D

7725 MR PR2ID D377 PR PR

If a Kohen performed the 7712 while he was v, the
other Kohanim do not take him to Bais Din for Malkos,
but rather

TITC)JB PINIMR PR®ID A970 179 NOR n]1n: ’n19 RbN
PPN DR PRI

The young Kohanim take him out of the 771y, and they nﬁt},l’ Y1n 1n1R ]’R’X1D
crack hiS skull With clubs, and he dies‘ ],1,(3: 1n1D nN ]’l’,xgn1

DPW TN
A person dies at age sixty

DWW 772 NNN

n»
A person dies at age fifty, and his children also die young.

or v

A rnv person who immersed himselfin a Mikvah, does
not become completely 770 until wnHw 197, after
sundown.

[niaif>nlnliviinis]

For the mxmv that require Korbanos, the X»v does not
become completely 70 regarding entering the Bais
Hamikdash or eating the meat of Korbonos until after his
Korbanos are sacrificed.

D790 01NN
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The sources for the Braisa of

AW 19N

The transgressions that are punishable with 0w *a 700n0.
1.

5207 PR YN

One who eats 520 fruits before 70 was separated

2.

A0 N YIRW ROV 7190

If a Kohen that was Xnv eats nmn fruits that were .
3,

AN DR IRW N

Ifa SR’ eats 10 fruits that are eaten only by a Kohen
4.

VPWY M

If a 58w’ performs the M2y in the Bais Hamikdash.

5.

VWY ROV

If a Kohen that was xnv performed the n712.

6

WYY Oy 7130)

If a Kohen performed the 772y before he achieved
complete 7770 of WKW 277,

7.

[aigpiulolintel

If a Kohen performed the 772y without one of the 732
fphiae)

8.

palaliviiala)

If a Kohen performed the 7m12p before he achieved
complete 77770 through his Korbanos

9.
oo 0T P RO

If a Kohen performed the nmay without purifying his
hands and feet in the 1>.

10.

]37 77]nw]

If a Kohen performed the 772y after he drank wine

11.

WRIV1I0)

If a Kohen performed the 712y with a hair growth of more
than 30 days;

However,

2P RIS

7RI ROR AP IR

If a Kohen performed the 7712 while he was not circum-
cised, or one of his close relatives died that day, or while
seated, the Kohen receives only Malkos but not jinn.

DafHachaim.org

NNMN2W 19N
920N NR Y9IRN
NNV NNIIN HORWYW RNV NN
MINN NR YIRW N
WNVY I
WNYVW RNVI
WNYY O 12V
0722 901NN

179D 901N

0°937 07 YNNI ROV

1 MNW)

WRI YD)

2V NN 9
NINTR2 ROXR NN R
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So let's review ...

The previous Mishnah taught

ARDIVI WDV 17D

7725 IR PR O30 PR PR

naliP YINIMIR PRI 770 179 NOR

PPN DR PRI

If a Kohen performed the 712y while he was xiv, the
other Kohanim do not take him to Bais Din for Malkos,
but rather the young Kohanim take him out of the 77y and
crack his skull with clubs, and he dies.

The Gemara inquires

DWW 273 RNT I2RAR 2T 7PHD RYI

RPIVI VDWW }7D

DY OTIAND 27N

DPWOTANH 2N PRIN

Is a Kohen who performs the 7712y while he was xnv
liable to ©»w 72 7M1 or not?

After a discussion, the Gemara brings proof from the
iakighl

ARV 175N

VWY ROV

The Braisa lists all the transgressions for which one is
liable to ©»w 721 7w, and includes W ww XnY, and for
this reason

PV DR PYROD

Because he will eventually die through onw 71 7m0

DafHachaim.org

Y

FINIYAD W 171D
=725 YN N3 DM 1IN PN
PO I AN PRI NS 1D KON
IR I DN PYREM

If a Kohen performed the nmap while he was Rop,
the other Kohanim do not take him to Bais Din for Malkos,
but rather the young Kohanim take him out of the mm
and crack his skull with clubs, and he dies.

2

N pow YD P £k ) DYN YD
RNV VNIVWY JND

DMWY 72 AN 21N
DNW 722 AN 2N PR IR

Is a Kohen who performs the nmap while he was Rop
liable to w2 h or not?

/f%fer w discussion, the Gemara érm?A/ /ﬂVOO% %mm/ the
AN7IP
NNMIAW 10 1R
WNYWY RNV
The Braisa lists all the transgressions
for which one s liable to ppw yP2 Dy,
and includes woww Nnv, and for this reason

PPTI2 1NN NN PLINDD
Because he will eventually die through pww 12 npm
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The Gemara now elaborates on the Braisa:

PPV 15K RON

The following transgressions are punishable with *72 nn°n»
onY.

1.

5307 NR HIINA

iaiion}

One who eats 530 fruits before MWy NN were
separated, is liable to o»w *772 11> because the Pasuk
states

75 1 TOR IR HRIW? 2327w PR 155 ROV

One may not defile Kodshim, and
pagtoluiigeialalnisblaiytis)al

The Pasuk refers to 5av, because the word 7 is in
future-tense and means the 53v fruits from which im0
will eventually be separated, and there is a mw 771 to
A0 through the word »>n

The Pasuk here of D2v states

o R

And the Pasuk of 1m0 mian states
v akeRnilsla)

isionlbiabXeis

AR IR

Just like a XY who eats nm1n is liable to opw 72 ', so
too, one who eats 530 is liable to oW *a .

However, the Gemara asks

A oM 9 n

We could derive through a mw 771 from the Pasuk of 9m
that states

551w IR D

And say

moapaban

N0 IRI R

Just like one who eats 1mi is liable to 173, so too one who
eats 530 should be liable to n1>?

The Gemara explains; we derive

Ao i n

Either because

w031 3In

530 has more similarities to 70 than to 9m3;

OR because

PIV DAIT NI AT IN

In the Pasuk of 2v and 170 the word 155 is in plural
form, while in the Pasuk of 9m the word %>'n is in
singular form.

DafHachaim.org

NNN2W 15X XD
The following transgressions
are punishable with ppw v .

1

92VN NR Y9INN
nnMAa

One who eats bav fruits before mwvm mnnn were separated,
is liable to ppw 112 DD

because the Pasuk states
xR 53 D RN 1D XD
=l = =R TN
One may not defile Kodshim, and

92T» N0 DNNL DTNYA

The Pasuk refers to 5ap,
because the word 1y is in future-tense
and means the 5av fruits from which nonn will be separated,
and there is a mw ny1a to nmn through the word H>n

The Pasuk The Pasuk
here é?/ S states é?x Wmb> I Sales

TR R DI 2D 1= )

NP R 9N N2 )N N

Just like a Rov who eats nonn is liable to pow 112 pW,
so too, one who eats bav is liable to pw 12 nD.

Py
Aman NN NN MHen

We could derive through a mw ny1a fromma

The Pasuk The Pasuk
/b@f@égzﬂfy‘&f%x é?/ wy Mafesy

TSI N Sen e e D

D01 IND 9N

n02 )bnb nn

Just like one who eats ym is liable to >,
so0 too one who eats 5>ap should be liable to m>?

W
We derive
nPIINN NN NN
Lither because
2191 2N
5ap has more similarities to nonn than to ym;
or because
9T 2T 2dnp DT Sdbn

In the Pasuk of 5>ap and nmonn the wordbbm is in plural,
while in the Pasuk of ym the word »>n is in singular form.
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The Braisa continues:

2.

M0 "IN HIRW RPO 71N

il

If a Kohen that was x»v ate m1n fruits that were 70, he
is liable to onw *12 1y, because the Pasuk that refers to
RV J7 states

ROM PHY IRW’ K51 19D WN DR 1D

DWIPR 'T1°IR PO 22 12 100

The Gemara explains however,

ARV AN HIRW RO 7D

AYPAIPR

If a Kohen that was xnv ate nm17n fruits that were also
RnY, he is not liable to '», because the Pasuk states
niPPiaikeRuRistel

The xnv 175 is liable to '» because he defiled the mn
by eating it.

DT NYNY 15 VIO

And this does not apply to nxnv 0 which was already
defiled before the xnv 0 ate it.

3,

NN IR SORW N

v

If a 57w’ eats mm1n fruits that may be eaten only by a
Kohen, he is liable to o»w >72 7n'n, because the Pasuk of
RpL 1770 states

DWTPR IR IO 12

And the following Pasuk of 71 states

WP YR R 1 5

Therefore, we apply nn’» from xpv j735 to .

27 however disagrees and holds

PN DR IR 7

b

If a SR’ eats mmin fruits he gets only Malkos but not
'y, because the words

DWIPH IR

IV OO

They are a separation between the 7n°» of X»v j72 and .

DafHachaim.org

2

NNV NMIN HORWYW RNV JNN
nnMa

If a Kohen that was nop ate nonn fruits that were 2w,
he s liable to Dw 112 W,
because the Pasuk that refers to Npv 0> states

NI P meir N1 et i b
o R YT 2D 1 T
However,

RNV NNIIN HIRYW RNV 11D
N2 IR

If a Kohen that was nov ate nonn fruits that were also Nov,
he is not liable to nn,

because the Pasuk states
YD 22 1 T
The it 2> i liable to app
éemd&/w/eﬁlé/z‘/w;wy) b wfm7d‘

DTV NODINDY 11D DID
And this does not apply to nxov nonn which was
already defiled before the nov 0> ate it.

3

NNIINN IR YORW N
nnMma

If abzxw eats monn that may be eaten only by a Kohen,
he is liable to Dpw 12 NI,

because the Pasuk af 4l oo Statel
iy’ 1 N DI 23 13 v
4 fé@%&%wm? Pasulo o% 26 sates
=0 SoN” XD f o

Therefore, we apply nmn from Row jnd to 1.

Y

MINN DR YIRW 7
nm»

':I“'W""pm ol
P2V DO
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4,

wPVW M

ikl

If a 58w’ performs the M2y in the Bais Hamikdash, he is
liable to 0w 72 1n°», because the Pasuk of 172y states
Y 293P0 [

5,

WWW ROV

nm

If a Kohen that was xnv performed the 7712 he is liable to
opw 72 amn, because the Pasuk of Xnv ji10 states
SRIW? 112 0T IR

MWTR DY NR 159 R

And

annn o n Hn 9

igisnR il phyta)

A IR R

The Gemara asks

A >R >N 9N

And say

mo o>

NI IR 9N

And the Gemara answers as before
PIY D277 9> AT N

Dedicated By: DafHachaim.org

4

WNWYWY 1N
N2

If a 5mw» performs the nay in the Bais Hamikdash,
he s liable to pww 12 W,

because the Pasuk of D3y Matey
TP IR0 ==

S
WNNVWY RPVI
N2

If a Kohen that was Npv
performed the nmay he is liable to Dww 72 D,

because the Pasuk %t// o0 stadel
oxmi 25 s i
= ol ;N TR X
And
NONNY 130 515N P
NI )OND D
NP N 9N

The Gemara asky

M 51 5n 9o
And

Y
M2 N3 N - M2 D> NP

v
And the Gemara answers ay é%am

PTY DT M1DNP DT M5N
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6.
WYY DY 51201

e

If a Kohen performed the 7712y before he achieved
complete 77370 of WHW 177, he is liable to opw 772 7,
because the Pasuk states

1551 R DPIORS Y DWYTR

M O RPOIT WIWW R1OY PIV IR DR

WY OY 91305 IV IPIN

Since the Pasuk is not needed for a X»v 1715 before 110,
because this was already derived from 111, we apply the
Pasuk to a Rnv 712 after 20 before wnHw 27v1.

And

AN 910 5 n 99

RisiisnRPabRaia)

DI R IR

7.

D732 70Im

igyon]

If a Kohen performed the 7712 with one or more of the
7172 12 missing, he is liable to opw *772 70, because
the Pasuk states

13121 137X VIIR DMIR DDM...

D9 NPINS NN DAY AN

DPYY DNIND OP5Y DAY TAAW 12

DPYY DNIND PR 05D DT PR

aReiRn PR

The 1778 12 are considered Kohanim only if they wear the
1172 >723, but if they do not wear the n1773 °732 they are not
considered Kohanim, and

P VVY N
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6
WNNVWY 01 912V
nnMma
If a Kohen performed the nTiap
before he achieved complete mnp of wHw 2w,
he s liable to pw 12 n,

because the Pusuk states
Tore N TR’ i wir
YDWY RPDD PID 1IN DN

NI )5 NpoIT
WOWY DY 51205 pay 1man

Since the Pasuk is not needed for a nov jn> before nbaw,
because this was already derived fromnrm,
we apply the Pasuk to a Nov jn2 after n»av before wow 2w,

ONHN 5Sidn 5Hdn by
NP JND R - NN )9Nd A

7

0722 30INM

nnMm2
If a Kohen performed the nTap
with one or more of the n1n> 1722 missing,
he is liable to w12 hD,

because the Pusuk states
L3 R0 DIIN DrR IOEm
oo M iED T S

DMDY DNND - DYDY DNTIIY N1
DDV DNINI PR — DiPDY DNTI2 PN
DMTINb N

The N 02 are considered Kohanim
only if they wear the nan2 11212,
but if they do not wear the nan> 1122
they are not considered Kohanim, and

NP1 PrYw 1
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8.

giriaiviiaisl}

igien]

If a Kohen performed the 7712p before he achieved
complete 77770 through his Korbanos, he is liable to nnmn»
oW 71 because the Pasuk states

79701 1790 PHY 390

The word 77701 implies

ARPL RW S5m0 770

Before his Korbanos are brought, the Kohen is still
considered Xnv, and

NI WYV ROV

9.
oo D7 P ROW)

faigkion}

If a Kohen performed the 7112 without washing his
hands and feet with the water from the 77, he is liable to
DY 72 H, because the Pasuk states

M R D 13A7 TN DR DR DR

Dedicated By:
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8

179D 01
N2

If a Kohen performed the nTiav
before he achieved complete mnv through his Korbanos,
he is liable to pow 1 nD

because the Pasub states
=== fo S8 ~g
NNDL ROW Sbon minp

Before his Korbanos are brought,
the Kohen is still considered nov, and

NP1 YMpY NHLD

9

092N D7 NI XROW)
N2
If a Kohen performed the nTiap
without washing his hands and feet from the >,
he s liable to Dypw 12 N,

because the Pasuk states
oo 1%y Shma o o or=E
FRil~ K NB”
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10.

]” 77]nw]

anna

If a Kohen performed the 7712y after he drank wine, he is
liable to 0w 72 1H, because the Pasuk states

1PN RN DN SR W P

1.,

WRI V10

pigion]

If a Kohen performed the 7712y with a hair growth of more
than 30 days, he is liable to o'»w *71 'y, because the
Pasuk in SRpiry states

MW R PI91IMOP R DURY

And the following Pasuk states

MY RS

There is a Wi from WRY°V1IDO to P "INW

A P IR I
AP WRT V10 R

However, the Braisa continues;

2071 IR 5D YaR

IR ROR AR PR

If a Kohen performed the 7712 while he was not circum-
cised, or one of his close relatives died that day, or while
seated;

He gets only Malkos but not inn».

As the Gemara explains

1.

mImRa 5w

Because the Pasuk in SXpirv states;

W25 255w I

NS WTPN DR R RO

As Rashi explains

ROYA 152p 7270 TR

oY °PH RN

Since this 73R is derived from o°x°23, there is no Malkos.

Dedicated By:
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10

1 MINW)
nnMm2

If a Kohen performed the nTav after he drank wine,
he s liable to pw 12 Ny,

because the Pusuk states
rIar X1 1 min ey ok

11

WK V17D
N2

If a Kohen performed the nTav with a hair growth of more
than 30 days, he is liable to pow 2 n,

because the Pasuk it fipsy states
sk X' e i X' TN
And the follswing Fasuke states
Y R P
There is a win from wNY WD to P mpw

NNy P MNY NN
NP2 YN N 9N

2V IR HIY Har
NINTR2 ROXR NN R

If a Kohen performed the nap
while he was not circumcised,
orone of his close relatives died that day,
or while seated;

He gets only Malkos but not nyym.

@

NINTR2 Yy

Because the Pasuk in bnptm states;
S o 2 o ~o8 o b
i v ox I N
Ay Rashis explaing
HHPOV3 OO3P 937H DIH
ObY b HN
Since thiy 225t Wy derived %rom PER,
there b no Malkos.
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2.
TIHRI IR

Because the Pasuk states

PIOR WM DR 55 KD R RS W0 790

A 9173173, an 19X may perform the 72y and it does not
become defiled.

This implies however

R¥? ROW INR R

55m

A V17717, an ;R may not perform the 712y and if he did
so0, the N2 becomes defiled.

3,

7NN WY

Because the Pasuk states

MUY THYY PO S0 PAYR 1M1

PNINA ATV

72705 R

The 1778 "12 were chosen to be Kohanim only while they
stand, but while they are seated they are not considered
Kohanim,, and therefore a 2wy is liable for the 77mR of 1.

And as Rashi explains;

However, he does not get in'» like a 7, because
PN 9N DT PRI RV R INT DWW

MY 12 N7 TARD DRI D200 WHY

PTEON PR

Since there are three Pesukim that teach onw 71 7m0
and we have a rule that if the Torah states a principle
regarding three Halachos unnecessarily, where one could
be learned from the other, it is meant to be applied
specifically in those cases and not others.

Therefore, without a 1w 77 we CANNOT apply nnn
DPY A0 VY.

DafHachaim.org

&)

NINTR2 N
Because the Pasuk statey
NE XD PR
piTex Pn mN P N
Ab512)n, an)aR may perform the nTap
and it does not become defiled.

This implies however
NN Nbw Y)DN ND
55n

AprTnjnd, an)an may not perform the nTap
and if he did so, the nTav becomes defiled.

©),

NINTRA2 2WN
Because the Pusuk states

iz bz Pitex NS s
D b

n2wb b - »pIN2 hTHYD

The pnn 12 were chosen to be Kohanim
only while they stand,
but while seated they are not considered Kohanim,
and therefore a 2wy is liable for the mnTN of r.

And as Rashic explaing;
However, he dyes not W PN libe a %, because
1Y MPEY O 07 THY HOEY I NO7 DIEN
0D 103 3957 THHD OH3D D3N £OE
P75 1PH
Since there are three Pesukim that teach ppl i 3oy
and we have w rale that % the ﬁrﬁhﬁaz‘axwﬂwfa
rzyar/éng/ three Halachoy wnnecessarily,
where one could be learned, %mm the other,
i i meanit To é@WWa/@mz‘/wwm
and nat dthers.
Wre/ar@, without @ >0 Pre
we cannot a/z/zl?/ Pl 70 o To 2.
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